@ ®

Wem3(x-x41=0

) Ha xZO I He x< O
Wl 3X—%+1=0 XZ+3x~X+1=0
W-bx+1= s KE2x+1 =0
x4;‘1:£2/1—~,é:l < i tL 22473 >0/ (x+1)°=0
X, = —zJ‘“ 2.F>0/ :><5==~1 <OV
0 o 4
5 >z
XE-6x=4 3
1 1
(b) >(3 )
\U/ WA M@HDO”’W W% ’)’Z{,% s onShbeny
bx-4 < 3 -
e bx-F+<0 =/ X 5], {/\ ;[‘ |
(4P DL L e
& B - 2
9 Cogy (-2 t Cogy  (X=6x+2) = U K] 1) x>2 #
| 1) x%-6x+9>0
RY: Ry @
67%?’[6(‘2)]7%9@?[& 5)] &%?7 6(*-3)2703>xe/f{\{@
Loy o[- (% 3)] éﬁg? |
[&-2)( ><—3)] - //
[x-2Xx-30—1"=0 )t (-8 a*‘g‘)
[(—z Y 3)~ Allx-2(x3)+1]=C
(x-2)( »<~:5)~/( =0 (x-2(X-3) 1 =0
KZ"‘QX‘*S"“;O SHIE X?—,Sxf?_‘:oﬁ
_—-— EL_, 5 AT \>Z #3/3 xm;gmr"ﬁgﬁ_&
J T wERene DO B
Y StIS



